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Random sampling (10”5 particles)
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Random sampling(10”5 particles




Source type

Ist=1 I'1: Point source
I 2 : Area source
I 3 : Cylinder source
I 4 : Energy Spectrum

L:242
srad =0.5 I Define radius of Cylinder source
sleng =5.0 I Define length of Cylinder source
angle = 60.0 I Define cone angle of beam
phi =45.0 I Define direction of cone
areax = 2.0 I X length of Area source

areay = 3.0 'Y length of Area source




Source type 1 - Point Source
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Source type 1 - Point Source
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Source type 2 - Area Source
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Source type 3 - Cylinder Source
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Source type 4 - Energy Spectrum
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Source type 4 - Energy Spectrum
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2D Gaussian
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Probability Density Function
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2D Gaussian
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2D Gaussian

open(40,file="13th_position.dat’,status="'old")
read(40,*) nhorbin

read(40,*) (horbin(ihor),ihor=1,nhorbin)
read(40,*) (hprobin(ihor),ihor=1,nhorbin)
read(40,*) nvertbin

read(40,*) (vertbin(ivert),ivert=1,nvertbin)
read(40,*) (vprobin(ivert),ivert=1,nvertbin)
close(UNIT=40)

write (0,*) 'Spectrum data are aqgcuired !!'
write (0,*) "




Energy Spectrum
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Energy Spectrum

open(41,file="13th_energy.dat',status="old’
read(41,*) nenebin '.
read(41,*) (enebin(iene),iene=1,nenebin)
read(41,*) (eprobin(iene),iene=1,nenebin)
close(UNIT=41)
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Energy Spectrum

If(ist.eq.4) then

call randomset(rndmp)
coneangle1l=PI*(angle/180.0)*(2.0*rndmp-1.0)
win=-cos(coneanglel)

call randomset(rndmp2)
coneangle2=PI1*(2.0*rndmp2-1.0)
uin=dsqgrt(1-win*win)*cos(coneangle2)
vin=dsqgrt(1-win*win)*sin(coneangle?2)
zin=100.0




Energy Spectrum

L:513
call randomset(rndmp3)
do nnn=1,nhorbin-1
If (rndmp3.ge.hprobin(nnn).and.rndmp3.lt.hprobin(nnn+1)) then
xin=nhorbin(nnn)
end if
end do
call randomset(rndmp4)
do nnn=1,nvertbin-1
If (rndmp4.ge.vprobin(nnn).and.rndmp4.It.vprobin(nnn+1)) then
yin=vertbin(nnn)
end if
end do
call randomset(rndme)
do nnn=1,nenebin-1
If (rndme.ge.eprobin(nnn).and.rndme.lt.eprobin(nnn+1)) then
ekein=enebin(nnn)
end if
end do g g gomcn oo o e oo



Modification

VAT RPIZEROI—H—a— REKERF
INT A—AR “theta” NMA-DTWEEEZLHE

/FEEHRROH AR B RESRIC & Y
£




